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RIHERE = 1 26, 162, 846
R T = 1 503, 590
Mt T = 1 172,530 |BREL 3, 000 m2
JE A (hy4£8255mm) ;
FE 3, 000 m2
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PRARBRAR T2 = 1 331,060 |fRA-1XT (HEA) 1, 000 m2
IRA () A 2Ry (Ju=774) (LFHO0. 45m3 JH A &
SEFEFEA 72 1, 000 m2
PRARR AT E 1, 000 m2
27 My 10t R ;
ALy 5 t
A ()
s L Y 1 5,919, 880
BEER T = 1 3,419, 180 | MG (Hhs) 1, 200 km
B ERE (RHA)
T A () 3, 600 km
BOKH (FFA)
B E R (BE - A D) 10 km
BB 720
BEAK MR G R T = 1 2,500, 700 |fHI#ETER (N) 5, 000 m
e
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I/ SEE AT ALFE 2. 9t/
TAT 7 MRS L =X 549,350 | yFvrT 1 t
FAEBRLET AT VMR G (20) HRBIn—7 O/ b 474
N IEEA
SRR AL (N 100 m2
g (I - BIF ) 100 m2
FAEBRLET AT VMR G (20) EHiZE/E50mm 1. 4m
PAE3. OmELF 5 fyra-bE e
IR 5 m3
TATINE BT 077 VT2t Rk
By 5 m3
TAT 7V
TA7 7 I L =X 10, 657, 680 | T )@ A% (BHIE « BXTEEB) 2, 400 n2
BA)Tyv47/ RC-40 A 10 JE100mm ;
g (I - BIF ) 2,400 m2
FAEMRLET AT VMR G (20) EHiZE/E50mm 1. 4m
BLE3. OmELF ;77 94ha-bEde
g (I - BIF ) 2,400 m2
FAEBRLET AT VMRS (20) EHiZE/E50mm 1. 4m
PAE3. OmELF ; fyra-t &
av))- M T X 1,978,644 | TJEEME (BE - BRIE D) 600 m2
BA)Tyv47/ RC-40 A 10 JE100mm ;
VAR 60 m3
18-8-40 (F¥F) 2/7)-bK" 7" B (FEIXAES190~11
O0m3/h) ;
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AT EEHAB ;
[ERAE Xy = 1 26, 162, 846
HiE 2 2 1 2, 290, 000
BISTIGE: = 1 336, 000
BGRESGESE (5 L) = 1 336, 000
B (FEHL) = 1 1, 954, 000
T = 1 28, 452, 846
Bl gy 2 1 9, 656, 000
T =5l = 1 38, 108, 846
— R A 2 1 7,321, 154
TS 2 1 45, 430, 000
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